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Sind — leg opposite /A4
hypotenuse
Cosd — leg adjacent to /A4
hypotenuse
Tand — Leg Opposﬂe /A
Leg Adjacentto 2 4
Trigonometry

nearest hundredth

Find sin R, cos R, tan R, sin S, cos S, and tan S.
Express each ratio as a fraction and as a decimal to the
eares redth. Ib
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Use a calculator to find the measure @0 the nearest tenth.

sin”'(b119)
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Use a calculator to find the measure of ZB to the nearest tenth.
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Use a calculator to find the measure of ZB to the nearest tenth.
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Geometry 8-5: Angles of Elevation and Depression

Ob.: I can use angles of elevation and depression to solve problems.
Supposg a per e ou‘utmlﬁ up and sees a hot-air balloon at a 38° angle. This is called an
&/ﬁ w -(, e word “elevation” refers to an angle above a horizontal line.
n

At the same timhe, a per e hotzairball s the person on the ground at a 38°angle. This
is called an - . The word “depression” refers to an angle
below a horizontal line.

Examine the diagram bgl The angje of elgvjtien is congruent to the angle of depression because
they are a/t(ﬁh ln — 2. ?
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Example 1: Describe each angle as it relates to the situation shown below.

v APYLSSION

b) £2

¢) £3 dQV’

d) 24

Angles of elevation and angles of depression are used in real-life situations that involve right
triangles.

Example 2: To approach a runway at an airport, the pilot begins a 3° descent from an altitude of
2714 ft. The airport is at an elevation of 1007 ft above sea level. How many miles from the runway
is the airplane at the start of this approach?




Example 3: Federal guidelines are very strict about heights of public entrances for wheelchairs. If
the angle is too high, it can be difficult for people to make it up the ramp safely. Generally,
wheelchair ramps have an angle of elevation of at most 8°. If the ramp needs to get to the entrance
of a building that is 4.5 ft high, how long must the wheelchair ramp be?
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Example 4: Two office buildings are 51 m apart. The height of the taller building is 207 m. The
angle of depression from the top of the taller building to the top of the shorter building is 15°. Find
the height of the shorter building to the nearest meter.
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Classwork: Exit Slip on Angles of Elevation &
Depression

Hwk #17 - due tomorrow

Sec 8-5,

Pages 447-449,

Problems 1-4, 11, 14, 15, 17, 28, 29

IXL #10 - R.1 & R.8 due Friday at 4pm!



